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Effective stack height = 40 m

Wind speed = 3.5 m/s

Emission rate = 1000 g/s
- Total reflection 7+

(Otef) 7HE =

i) Air stability class: A, @F0|A HIZEHHFOZ 0.5 km
ii) Air stability class: F, ==0A HIEHFOZ 0.5 km

i) Air stability class: A, @50|AM HIEHEO = 5 km
iv) Air stability class F, @50|A HIEYEZHFOE 5 km
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Effective stack height = 40 m

Wind speed = 3.5 m/s

Emission rate = 1000 g/s
- Total reflection 7+

(Otef) 7HE =

i) Air stability class: A, @F0|A HIZEHHFOZ 0.5 km
ii) Air stability class: F, ==0A HIEHFOZ 0.5 km

iii) Air stability class: A, = 50|A HIZHHFOZE 5 km
iv) Air stability class F, @50 A HIEHZFOZ 5 km
(30%)
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Of 714, o, = az"®, o =ca'+ f

22H0) 430 A7 5 ¢ o £ 2 AU BE o, 0. G O/ BHE 2YEY SEE
7812,

)a =213 c=4408 d = 1941, f = 927, x = 0.5 km
o, =213+ 0.5"" =115 m

o, =440.8 - 0.5""" +9.27=124m

B 1000 g/ (40 m)?
C= exp| = T o 2
3.14-3.5m/s - 115m - 124 m 2. (124 m)

=6.06 <10 ° g/m® = 6060 pg/m*
f)a=234 c =145 d = 0740, f = -035 x = 05 km
0,=34-05"""=183m

o, =14.35- 0.5 —0.35=8.24m

o 1000 g/s )  (4om)?
3.14-35m/s - 183m - 8.24m || TP 3.

=4.61x10 % g/m® =4.61 pg/m?
i) a =213 ¢c = 4597, d = 2094 f = -96, x = 5km
o, =213+ 5" =898 m

0. =459.7 - 57" — 9.6 = 13400 m

c

_ 1000 g/s ) _ o om)?
3.4 - 3.5m/s - 898 m - 13400 m /| TP\ 2. (13400 m)?

=7.56x10"°%g/m® = 17.56 ug/m?*

v)a =234 c =626 d =018 f=-486 x = 5km
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o, =34-5""" =143m

0. =62.6-5""%—48.6=235.0m

o 1000 g/ )[exp(_ 2 .(40 m)? ﬂ

“\314-35m/s - 143m - 35.0m

=0.46 x 10" % g/m® = 9460 pg/m?
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Lp? = Lpl - 1010g10

4m\?
Lp? =100 dB— 1010g10(ﬁ) =94.0dB

//) 7,‘//(-/ U// ILOE 7/ OH.L_LE E/ 700 m L'L'-lo/xl 7.-/o

B 100m \*
Lyz =100 dB—10log,y| = =] =66.0d53
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